f@gf\owa
’ Sop. S | @019
0. SQ\W&\(YQ& ?\(Xé'\"“ {thihd
- ORX.\W:\ELQ\ &b\— \/Q_:.X@v \\N\\(\:\X CO\M\?&/\q\:\w& (w_ow MO\(K«.\\«L S‘mui qtsc\«ou“\,‘

‘\“\'WQ\*—\N)\ L&\«%\w«(«)
— S\Vm\;\sww\;\\‘( QDW\\R\:\ s 0&\,\ QSP\T’ °§< Qe\lﬂ\v\&éc- \0""?\'\:\&&

oo

\v\g\\m\\ Awo\gm/\c)\g\ \P’A/&c&' (\/WS'\OV\ g,x ) [\/Mv\olows \UWX, Ayapll )

L Sty peiage olaled
Lé S\b\{ou/r QO\‘\\Y‘:‘ (Jbvdo\oml va\wwvw«l>

Codu Ww?\o_g ‘\V\ a\x S;QL&U(‘



/lvg‘“\\tg GK :PMO\MQ‘ml qu\'\

/l/l \T\V«_Q_ \/D\(Uz_ OQ /\’loue

= v\ \\V\x?/ﬁsx ‘rﬁx&

TV =80l vale L TV= \m&w\ valg

akher w s TVZRV (1)
(?\/ :j;\/ (\-&\r\rv\

‘\X \w\v&s\ \S Qo\m?omhd W \1\4,\,,/3 ‘?wv YQM\ : "1[\/:?\/ \\* 5\ >ww\

SVW‘\\«O\OK\(: ¢ (BE\( \\OW‘{'M(L:\VAW'X t}‘lu)
o\qu\iuv\ \('W»@\( Q-DU«"DWMd SQw‘\"e\uuuaur

» /f/f E\( Qwov\iqak—axvtvwkm& v !L\D\ )
m«uw\h}wk \/"\‘&\0\( (vw‘aow\oua( u&ow\-\/l‘/l/

ag(&ic\‘we_ apaal ‘\v\\_v/\-u\ Wi\t \_{\O"\ - (4 i )vw

= vy = \-&‘E)M—\

Ny T
(“% d\\\ow& \-o (M\?%\'L W s\wm\s \/\;\S‘\'\ O}“QE(WM]( QD\MPowoll"« d S¥dawf s

Ekqw\pb—', “r:&bo/o l gew?ov\ohul -\w\cm o yeav

[
e = (e ) =1 = 01038 =10.25%



lg "Q&& O\KMA\(S \O\XW \\\0\\« \/1, (*r?())

Q&:(\*E\M-\: lvw s oo} =2 v Yo
>0 (‘g;-] alse hre wihy

gzx\uv\\‘\‘& '\qu(w\\&\\( )

Q%%\x\vm/s Qov«\eow\\{wq x‘w\L‘L (Aw

FV=RV Ga (6 8) T = v

w204

19\ (3%«%\\ Q‘KS\/\ '—\:(O\A/j
w5 N yasdy ) e

d\\( ‘QN\“\OX \Cmr \\«W\\\s Cqs\/L Q(LOWS C\\Qq‘...| Q\/\
Cl Cv\ Z\, Q(
— X — =
V= \-w) NEY )1—(— (L4e 1" ?—:\ (e )

: \ — |
\/U\xé’\ xX = \__\‘\’ :>\M\U€ xo QA/ql‘/u\Q ?O\"(Vov\'\tx(&' Z_ C—\X\

\\M\P LDAMQA/\\ tk\'xm-\ \[V\ \)Y\\{O\/\ N
. \ozs\: USe \&t\v\'\m}\ ow\zm
= cwqu(\ wvl) | G = givenacy

USe Q\o ‘D\D&M&Y E‘or\/Qt aNN ?\/ Q\Ox & C, X*ﬁ\)
VQC\—OV V%Lw



~ L}(\e\?&\\ \OOp (<low)

. HMM& So\luum,;

YV= («CMX + Qw)x +CM>><+... + C\>X

Kokyvu\ (QQ\ X\/ow SQ.‘\?\( > L VSes ov\:\w\%@x \-\WV\W'S ScLer
(s teok “p Qocumadalion

AMV\U\*\( . C-\ =C V.\

Q)‘fv)\'\wom( O\\Avw'\\\\/ \VSva\\\( QSQW.LJ ) . Y)O\\(& C (1"\ Qy\())\ 0& :\\ll \/{qv‘
| .
TV = T (\x)

\=o
LS whoo. W
%@w&\\\c temess X2 X = Tx' x4 X
1=o 1=\ \30
w4)
W Wit - \“X
(X-NTx'z=x -| =22 x =
\=o =0 \,\X

= V= C &K\W\Z\\\ )



